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QUESTION 1

IoT devices can be connected to the Internet and can be controlled via the Internet. 

A. TRUE 

B. TRUE 

Correct Answer: A 

 

QUESTION 2

Create a new disk in Huawei FusionCompute, which of the following operations is incorrect 

A. Set the disk type to "normal" and the disk mode to "independent-non-persistent" 

B. Set the disk configuration mode to "Thin" and the disk mode to "Independent-Persistent" 

C. Set the disk mode to "independent-non-persistent" and change the raw device mapping to "supported" 

D. Set the disk configuration mode to "Thin" and the disk mode to "Independent-Non-persistent" 

Correct Answer: C 

 

QUESTION 3

The following description about the differences between physical switches and virtual switches is incorrect 

A. virtual switch runs on a physical server, and the physical switch has separate hardware 

B. The virtual switch cannot operate on the VLAN tag, and the physical switch can operate on the VLAN tag 

C. A virtual switch cannot be configured with a Layer 3 interface, and a physical switch can be configured with a Layer 3
interface 

D. Virtual switches also require certain hardware resources for their normal operation 

Correct Answer: B 

 

QUESTION 4

A SATA disk is a disk using a parallel interface type, and a SAS disk is a disk using a serial interface type. 

A. TRUE 

B. FALSE 

Correct Answer: B 
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QUESTION 5

As FusionSphere, the disk thin provisioning can be achieved is (multiple choice) 

A. thin provisioning and virtual storage operating system, hardware has nothing to do, so as long as the use of virtual
image management system, will be able to achieve disk thin provisioning 

B. does not currently support NTFS formatted virtual machine disk recovery // NTFS does not support online recovery 

C. providing virtual disk space monitoring and recovery features 

D. to provide data storage capacity warning threshold may be set, generating a warning when the storage capacity
exceeds the threshold value 

Correct Answer: ACD 
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